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Topic:- Child Development & Pedagogy (CDP)

1) Comorbid means: / CAL TR ("HE>Irdr) &1 3 g

1. It describes a disorder or condition that may co-occur with another disorder or condition. / IJ& Th TdhR

a7 feufa &1 aufe oaar & S R 3T R a7 feufa & a1y & godr

2. A condition can appear independently and have a detrimental effect on performance. / a5 ufa Tads
¥ § gehe & Tl & AR Uged W EMAdRS YA ST Tohel! &

3. A cognitive impairment can shorten lifespan. / T=TATcHD &lfel Sidedhlel Bl BICT A Thdl &l
4. None of these. / é?m q Ehﬁé ?—Iﬁl

Correct Answer :-

« It describes a disorder or condition that may co-occur with another disorder or condition. / I& Tdh TIBR

g7 AT 1 guiad a1 & o fRet 3T R ar Rufa & a1 & gaar &l

2) What is the second leading cause of death in adolescence? / fHIIRTARIT & GG BT GERT WA HRUT
1 3?

1. Road traffic accidents / "Hsh IATATATA zgéz?mfr
2. Suicide / HTcHAGT
3. Psychosis / HANARA

4. Drug overdose / 39T 3Tl

Correct Answer :-
e Suicide / JATcHEIT

./ RRa s faaEu___ I
1. Universal Developed Learning /qﬁaﬁa Saats AT

2. Universal Dynamic Learning / Jfaia¥el SIIATIHG afetal
3. Universal Design for Learning / qﬁmﬁa Bosa BR AT

3) UDL stands for




4. Universal Disadvantages of Learning / Jfaia¥dtel fs¥usaicst 3ifh afetor

Correct Answer :-

» Universal Design for Leaming/m Bols BR AT

4) The meaning of gestaltis __
1. Excitement / 3cdl&

2. An integrated whole / 'H'C[Usf ThIhIuT
3. Perception / RO

4. Insight / 37dET®

Correct Answer :-

o Insight / 3TsT®

5) According to Piaget’s theory of cognitive development, complex thoughts form during the

/ forars & dgrTere fRAerare Rigia & oguR, sfed faar & IR 31 B
1. Pre-operational stage /qﬁ-m HIEAT

2. Concrete Operational stage/%‘f(—il’&)mcd-lm STIEYT

3. Formal Operations stage / 3iTaaTRe Gfepar 3raear

4. Sensory Motor stage / el HeY TIOT

Correct Answer :-

« Formal Operations stage / 3iTa=nRes GferaT 3rae2m

6) According to Kohlberg’s theory, at what level does the child adopt rules? / FEdadT & ﬁz}n?r F
AR, ST BFE T W Al F w&erar g2

1. Universal ethical principle orientation / aaside Afde e 3733@|EBIUI
2. Post-conventional level / T4-URFIRS T
3. Pre-conventional level / q@-URFURE FR

4, Conventional level / URFIRE FaAX

Correct Answer :-

« Conventional level / TRFIRE FaAX



7) According to Urie Bronfenbrenner system is the small immediate environment the child

lives in. / T FIBeTaeIX & AR, YOITel a8 BIET 3HTHew ATarawor ¢ forws aear & ¢l
1. Macrosystem / HepITATCH
2. Exosystem / T f&EeH

3. Microsystem / FTShITHTCH
4. Mesosystem / @ faeea

Correct Answer :-

« Microsystem / FTSehI T

8) What is used to determine eating disorders? / @l & Rt # AuRT & & AT Far g3
T srar 872

1. Weight index / HR P

2. Weight mass index / #AR gcIHATA (iﬂchich

3. Body mass index / NN GeIATA bk
4. Body height index / SRR 5dTs HIhich

Correct Answer :-

» Body mass index / R AT {-‘Lthviqw

9) What term best describes a child’s difficulty in learning a new way to do a task he has already learnt?
/| 9% 9g S TH 9T N TH 49T dadHT @ H AT qTel FEAE T T9@ 35T JoiT el ¢,
St sEe ged @ € W gam ¥

1. Proactive interference / Gfehd %'{-_cfaqtr
2. Retroactive interference / q:ﬁoqml W&%’q
3. Cue-related interference / Hbd-Taiad TEdaq

4. Semantic interference / AT FEINT

Correct Answer :-

e Proactive interference / TfhT Wiﬁq

10) What task did Piaget give children to understand their hypothetical-deductive reasoning? / Rarst
q gl B IAF FreUiAh- AIAAICHS do H FASS F AT F=1 S5 7



1. Pendulum experiment / ﬂw Galiepie)]
2. Bobo doll experiment / @lell IFSAT T FATIT
3. Visual cliff experiment / TF Il YIIT

4. Shadow experiment / SIIT YT

Correct Answer :-

» Pendulum experiment / ﬂ§TvI'H T T

11) What does the theory of learning by Insight mean? / 3d¢fSe (3aUBE) & ATCIH ¥ AT &
faguia &1 34 4 §7

1. Learning which requires higher order mental processes like thinking, reasoning and intelligence. / 31faTa

& o faR, a6 3R gigaar S 3=a wide Aafde afhansi & sragsar adr B

2. Learning by trial and error where problem solving is characterized by repeated, varied attempts which are
continued until success. / UATH 3iR gf?f ERT 3TATH FIT STel THET A Affea vy gR1 aR-
IR & IRAT Th TAAWAT &, Sfh Theldl dd SIRT Bl &l

3. Learning that occurs by observing the demonstrations given by an expert and imitating his movements. /
HRTH S T AT gRT T 90 Tl A @A HR 395 FIR PIAA BN Abel Bl & Bl
2

4. A type of learning or problem solving that happens all-of-a-sudden through perceiving the relationships of
various parts of a problem and understanding the situation. / T YR & HIAITH IT FHTAT Pl &
A S fopt gaHEm & RAffea fReal & godt a gase 3k 39 Rufa & gasa & aJgsd
¥ FaAH Bl g

Correct Answer :-

» A type of learning or problem solving that happens all-of-a-sudden through perceiving the relationships of
various parts of a problem and understanding the situation. / Teh YR & IFTAIH IT GHTAT P &
AT St fre @erear & faffea el & gayt & @eree AR sa Rufa o aeee & acgs
¥ HaE B B

12) Name the disorder that causes lack of attention. / 30 Q&R FT ATH qdT¢ 3T €A HT FHT &7
HROT eIl &2

1. Dyslexia / aipfaeR (fSreifadaar)
2. Dyscalculia / [SEhegpforr

3. Dysgraphia / fS@anftear

4. ADD/ADHD / TSIET /USIu=ist

Correct Answer :-



« ADD/ADHD / USIET /USIuIs!

13) Which model, proposed by Albert Bandura, explains human functioning and personality as caused
by the interaction of the behavioral, cognitive and environmental factors / eac El?'gTI' QanT gEaifad
i A1 AlET TIER, FAWICHS HR AN FREA F RER F7A1 F MUK | AT 9 317
cafFded Y AT FIaT §?

1. Self-efficacy / HTcH-THTIBIRAT
2. Reciprocal determinism / UREUIR® f@afdarg
3. Trait theory / <Tfthed [AgTd

4. Sublimation / 3%dUld<s

Correct Answer :-

« Reciprocal determinism / IR¥URS® Aafdarg

14) Which of the following promotes the recurrence of a behavior? / FFafaf@a A FTarr
SqAER AT TAGRT F Fgrar AT g2

1. Reinforcement / ga‘aiﬂ?r
2. Latency / ggdr

3. Chunking / Tfchal

4, Punishment / &3

Correct Answer :-

e Reinforcement / gﬂéﬂ?-[

15) Which of the following theories focuses on processes involved in perceiving and handling
information? / fAFafaf@a & & Fla a1 RAguia gaar ' Ferea A’ IAX e gIoT FA A
anfier ufhanat W HRa ¥

1. Information-processing approach / W-U’W’WUT SUTITH

2. Social-contextual approach / HTATTSTh-UTHIH SUTITH

3. Socio-cognitive approach / HTHATTTdh TATATCHSD SUTITH

4. Psycho-sexual approach / AATATND SUTITH

Correct Answer :-

 Information-processing approach / H@FIT-‘;I’@F&WUT SUTITH



16) Which of the following is one of the components of ideal mental health according to Jahoda? /

Prfafdd & ¥ #l7 SR ¥ 3R e AWRE TR & oA & ¥ T
1. Dependence / feaT

2. Separation from society / TS & 3ol &IAT

3. Freedom / T

4, Positive attitude towards oneself / TIT & UTd TPRIcHD ¢TRDIOT

Correct Answer :-

« Positive attitude towards oneself / TIT & UTd TPRIcHD TIRDITI

17) Which of the following statements best describes the Zone of Proximal Development? / fa&=ifaf@da
# A FF T FuT THIET RET F 8T FT FAO@ ITOT I FAT 2

1. The difference between what a learner can do without help and what she or he can achieve with guidance. /

uo Rremdifemr gerar & w1 HR hay/Ied! § 3R ANTeRiF & I1Y-Iry 98 o1 gIRIA R Ihdl /bt
2, 3P dIg &I 3R

2. Academic, Knowledge based tests gauge the intelligence. / 37hIG [d1eh, ST TR &0 & Tg@ﬂ?ﬂ
&1 gl Feldl B

3. The child develops the required skills on his/her own. / IdT 30 g WX 3TATD pierer TAhTAd
T &

4. Discover everything on own. / §d S T & @il o]

Correct Answer :-

« The difference between what a learner can do without help and what she or he can achieve with guidance.
/ T RigmiffaT Tgrd & 1 SR AHa/AHd ¢ AR ANIGRH & IA1Y-T1Y a8 T gIId B qdhdl/qdhdl
2, % o9 BT SR

18) Which of the Thorndike’s laws emphasize preparedness? / qASS® HT HiA-AT FIa dafat «w
SR & 72

1. Law of Exercise / 37918 &l @Ia
2. Law of Effect / UHTG &l fAI#H
3. Law of Multiple Response / dg gfaferar &1 g

4. Law of Readiness / dcqRdl &l I

Correct Answer :-



« Law of Readiness / dculdr &l aI#d

19) In scientific investigative learning method, ./ A W rfearT ‘I{ﬂﬁl’ #,

1. children discover the scientific idea completely. / & @ aqM® fdaR U @ ¥ UdT Iad g
2. children work without guidance. / I EFIIZ'IG‘\’i?-T & T FrH A %I
3. teacher guides the children completely. / f1&Te aat T T ARG AT §

4. teacher gives inputs when needed. / 87 TTRIT Usad W EQl &ar &l

Correct Answer :-
« teacher gives inputs when needed. / f1&Teh SRRT Ul WX EQl &ar &l

20) A child is watched carefully by his teachers because his friends are known to cause trouble, even
though the child has never done anything wrong. Which of the following is descriptive of this? / T& dTo
I 30F RNaTHl @RI €O F @ AT § FIF IqF QA Y WA FT FRT JAT AT §,
o @ = F FI Fo Ad A A @ AfAf@a & @ Sl w1 swer aviarens 82

1. Algorithm / TealRYA

2. Transductive reasoning / UITHT G

3. Representativeness heuristic / 373ITdeeT %’gﬁm (Rﬂ‘g’ﬂﬁiﬁr )
4. Anchoring heuristic / GHdIA %Tgﬁ'ﬁ-?ﬂ? (Rﬂ“@’ﬂﬁ?ﬁf )

Correct Answer :-

« Representativeness heuristic / 373-ITdee %:23 Rf&ch (W@’Qﬁaﬁﬁ )
21) Who are backward children? / Q&3 aRa s #wlad?

1. Slow learners / ¢ 31TAITHBAT

2. Delinquent learners / fareeToT 31fQaraTeRar

3. Handicapped learners / f&emaT 31fTHTRAT

4. Exceptional learners / 3TATUROT 3T fAITAHAT

Correct Answer :-

e Slow learners / Fe AT HPAT



22) The last stage of creative thinking is : / TaellcA® RaeT &1 3ifadw =T &:
1. Incubation / SCHTIA
2. Verification / HcAUe

3. Preparation / SEIE

4. Evaluation / EELFZI'IEI'F[

Correct Answer :-

e Verification / HcdTded

23) The Dalton Plan was created by: / 3Teeel YTl &ant 1S TS oY:
1. John Dewey / STl &%

2. Francis Galton / BIf&H e

3. Francis Dalton / SIf8&d 3Teed

4, Helen Parkhurst / %?—TH q'l?fb?»@
Correct Answer :-

o Helen Parkhurst / &oleT UThgEc

24) A student should be allowed to learn in the mother tongue as it makes easy./ T& B HI
AT F W@a # aegAfa & S TR F=iF 77 S HTEIT 1T 2

1. Comprehension / &Y
2. Perception / HdcsT
3. Creation / {T=T AT ¥

4. Reproduction / Yol

Correct Answer :-
« Comprehension / &Y

25) More Knowledgeable Others and Zone of Proximal Development are the main principles of

theories on cognitive development. / 3% FATFAY 3T FATTy e F aF
FAETAS faF W Rcuial & geg Rewia g

1. Kolb’s / led
2. Piaget’s / TOmat



3. Dewey’s / 34
4. Vygotsky’s / aTSINcEhr

Correct Answer :-

* Vygotsky’s / dTSINcED]

26) A large number of schools do not have a provision for teacher in the school. / rfereprer H‘:_('ﬂ'
# YT T yTaeTe et &

1. Extra / JTaR=

2. Special / Tafre

3. Co-class / w—fﬂaﬂ

4. Assistant / Ggld$h

Correct Answer :-

« Special / Tafrs

27) are the basic needs according to Malow’s Hierarchy of needs. /

A & RO & UGTIPH B AP & AR Fard oevd g
1. Safety and Esteem / gR&T 3R AT

2. Physiological and self-actualization / 2mMIR& 3R 3cq-a1er

3. Belongingness and love needs / T4 3R IR fr 3maeged

4. Physiological and safety needs / IR 3R gRé&l DI IR

Correct Answer :-

» Physiological and safety needs / RIS 3R gRé&m DI I

28) Which of the following can a teacher not exercise to overcome misconceptions? / T&

1&g/ Toa YRS B R FA & o 37 A fvaeT FagR 18 &% q@an?
1. Immediate feedback assessment approach / dceplel UTafohar W gf¥eproT
2. Self-directed learning / 3T fAEE & Hr@am

3. Quiz style assessment both before and after a unit/ Teh éiﬁl'é' T ugel 3R g F wAad delt @
Hediehe
4. Flipped classroom approach / TFeTd &heTT TRhI0T



Correct Answer :-

« Seclf-directed learning / 3Tcd A& & dr@ar

29) Which of the following theories is also known as modelling learning theory? / Frafafaa #
¥ fra Rigia &) ufeevur(atsii) st Rigia & Fu § oft s sian 82

1. Developmental theory / ICCARIcEED (@Tﬁlﬂﬁ?ﬂ) STy Rygid
2. Social learning theory / HTHATTSI 3TTQTH Agid

3. Transformative learning theory / avmﬁa 37T g
4. Insight learning theory / 3ide® (3aamse) A9 RAga

Correct Answer :-

« Social learning theory / T 31191 Rgrd

30) Thinking most importantly involves: / ﬁlﬁ?ﬁmﬂgﬁ'@f?ﬁ?ﬁwmmé ?
1. Aptitude / 3TTRINTIAT

2. Memory / EHfd

3. Reasoning / as

4. Attitude / 3TTHRT

Correct Answer :-

« Reasoning/ d&

Topic:- General Hindi (L1GH)

1) ®I3 Wt g Paa T Tuar 981 gidt 7 1 S TuRan o1 g &1 A g Sian @ o ggayef g ok
R TR uran 1 1% | R e § 3 9 F 3aR U gU RN § I 89 YA $ed &1 TP IR 9 gH
et gt R faorg T 7 Ad € o 70 U 9 FEl ifUd I 9gd § | dlwdad @1 g gHlfaal Autafad
g IMYR AR F3A P T, AR B g, Apad B S AoTgd BIATI AT T =N BT ST T
A &1 AT BT gsar 21 3 fay &1 v Nurs v dwda @ srgar 81 g & 3R w1 | Al
Tt g faagpa arw 31 39 3= & 9 gl 8 7 5 @ve @ U dibaite IRER I8Td $IP alddad &1
STYR IR 51 TR | THT A F T SABdiiad IROR B IWIST SR, AT Bt WRPR & G701 A ©
TG BT 3R TP T AP Bt RATYAT B g1t AUTE SHBT 3T 33181 81 9l g1 31l g1a aa Aura
T IToT §3HT BT AT 379 H dipad 31 AfhT @ Y 3gal iR H HIA & a¥id] B gga o auf
T TG &1 e AuTe 3l WipeT & ol STUR AR $RA BT I A o W 8|

STETeR T didpda § faearR & gkt g1l 8 | $He1 daerd ¢ f {6t 39 & &v &7 # depditie WeR &
Tayd il & R HAT1 3R TP UHTT HI U & g3 9 3R I P 8 IRIT 9% UgaHT | R
Tt frerat @Y Siftre fdRT WeT R, Y & §R 3PIS &) Wudlg $ YU ¥ a1, afgarsit ik




AFTHRIHT Pt GRIURT I S5, 3f fawR &t gl & 31601 8 | 59T 9g Haaq Mg F sud o
PHad T g o) Awdaite ufbar 9 wR R &1 9% | YR 3R SAR®T 9 Siftepar 3=1 3met 3=t g &1
ITAAT FR 78 &1 URd A 3t oft goe A 3¢ O fuse ovf € o) voifae wifea =1 frer i 81 oot oft
YaiR & $0 IeT YR B TBIURT A T v 9IS 71 U €1 A 99 didpad & AR 3 gl & Igrer g1
AIHda B TERTS dP TOgd B Pt Gt BT ATHAT G AIPad Bl BT ISl 3 | TAPT HAAT § Alpad Bl
wisharael 3R TR Y ToTgd BT

SUYE TR BT TEHR F1Y YD T U BT I<R IS
Y : ADBAIAD AT AT S &I HR AT § ?
1. Sherel Slehcld BT A B T HEUT cTeb Tgarall

2. 30 |
3. hael dlhdiiadh TIPR b AAHd AGial dl 9] A
4. el THR & YA Bl FATST & & 91 deb Tgellell

Correct Answer :-

o« 304H G

2) $is ot g Fad Th THIT L1 giat ¢ | S TURT Bt Gt BT A faar Sran § o ggayu gt iR
R IR uran o 9% | R Tawn # 3 9g1 & 3aR U U EIA € SN g9 gHIdl Ped & | TP 9R vd gH
Pt gt W faorg e #% A € o) 39 Ugd A Fl it 3 ggd ¥ | diedd it gy gAfaat e
T YR TR H1 T gL, R F g, Apad B S Wolgd BIATI AT AT = DY ST AT
Al BT AT B usdn g1 3} fay &1 ve Aurs iR dtwda @ rgar 81 g1 & T $il o dtead
Pt g fIaea I1w g1 39 =0 & U7 A 3 P 5T @i I e deditie WeR T8Td a3 dlddd B
STYR IR a1 TR | THT A § TAUH A B diid IROR B IWIST SR, AT HI PR & Fa70 A ©
TG BT 3R TP T AP Bt RATYAT BI1 g1t | AUTe ST 3T 331801 81 Al g1 31t g1a aa Aura
T ST §HT BT AT 3(d " dipad g1 AfhT AR B 3Mgdl 3R HTH HIA & adid| B dga- o aul
T TG & 1 e AuTe 3l SipeT & ford STUR AR $3A FT A A I W 8|

TR RITUd Adad 8§ fawaR @1 gHid! gidl 31 SUPT 7aad ¢ & [t 331 & 5% &7 § diediie IR &
Tayd Ridl & R HAT 3R ITP UHTT HY U & g3 I 3R I P 8 IRIT 9% UgaHT | I
TRt el Y 3iftre WfeT Ue BT, T9 & & IPIS &1 Judig & yHTd § a1, uigarsi siv
ASTHRIH! ! GRIURT | w51, 3fe fawR &1 gl & 331601 8| 39T U8 Haaq M g fF s o
Pad T g1 o Awdite ufehar 9 1R i) 9T 9% | YR 3R SARST o Sffpar =1 3meT 3=t gl &1
T A 3B &1 YRa & et oft worer & #7309 s ot § fme! werifas wife 18 fre urd 81 oot oft
YaR & $O T YR B TBIURT A T v IS 181 U €1 A 99 didpad & AR 31 gl & Iqrevor g1
AIBda B TGRS dP HSgd B Pt Gl BT JTHAT 8 AIPpad B ST USdl 3| THPT AAAd § Alpad B
uferanail 3R IR B Toiga ST

ST TR P UG A2 IR Y U= $T Ik Farsy|
WY : SUTETaR R @ A fraat gt g1t 82
1. FATAA &
2. TIEar &hr

3. §FOR &6

4, JaR hT



Correct Answer :-

. faEar &ér

3) &1 W TN Paa Te THT TE Sl 21 S THET DY T BT A f3ar Srar @ S Ayl 8 o
R TR U o % | R e # 3 91 F 3aWR U U EN § I 89 YHId! e &1 TP IR v g1
et g wR fawra ured a7 A9 & ) 39 Usd A Bl 3w o g ¥ | Abad $1 e gHlfadl atiiad
T YR TR HA Ft gL, faaR Bt gdl, Aipad B TS Tolgd BIATI AT AT =0T B ST AT
Al BT QT BT usen g1 3t fay o1 ve Aurs iR dtwda @ srgar 1 g1 & T il A At
P g fIaea 1w g1 39 I & U g 3 P 5T @i T e dedifie WeR T81d o3 dlddd 1
ATYR IR 5T 1 | T A A T AABAiRAD IRPR B S@IST FH, VT B PR & 01 F g7
TG BT 3R U TR Y Bt RITYAT BT g1 AUTA THBT 33T 3181 &1 Jbvel g1 3l g1a aa Aura
T ST 3T Heal AT 3T H a8 AP RN F1 3rrgal 3R HTH H1 & D! &I gga o auf
o WA ¥ 1 St Aurer et dipda & o STUR 9UR $31 BY g A S w12

WER VI dieds § AR 3 g 1 1 391 ddad ¢ P f6dft 3u & &= &7 § diepdife WeR &
Fayd Rigial & A S1 3R 0P YUTT B U & 82 a¥l 3R I $} g3 TR 9% Uga=T | R
TS FrpTal Bt 3ifie TRt Tt BT, WY & &R SIS B WHdle & YT A @, afgensii ok
STIIBID] B! GRIYURT A S, 31 IR & gdt & Ieevr 1 59®1 98 Haas N2 fr sud o0
PHaa TR 8 o) Awdaite uftbar 9 W R o1 9% | URd 3R SAR®T 9 SR =1 3met =it g &1
ITAAT PR T8 &1 URA H 3t oft goe & 3¢ O fuse onf € o) sorifae wifea 1) frer g 81 oot oft
AR & $© o9 YR B TBIURT I G a8 IS 7181 U €1 A 9 didpad & IR B gl & IS8 ¢
AIBda B TERT 9P TG B Pt G BT ATHAT G AIPad Bl BT ISl 3 | THPT AAAT § Arpad bl
wfharal 3R WA Y Torgd BT

ITYe TN B! TSP AR U Y Y= BT IR 9d13¢|
Y : Aihdd @ g&I gAIfaar |1 82

1. dhadl IEAIR B Hr

2. BT HTUR JIR HLa Hr

3. had dlhdd HT SIS FAAGd P Pl

4. 30 |

Correct Answer :-

4) @I Wt g Faa ve guw T gl 81 S Juwn &) g BT A e Sar 8 St geayyf 8 el
R IR uran o 9% | R Tawn # oM 9g1 & 3aR U g EIA € S99 g9 gHId! Ped & | TP 9 vd gH
ot gt R faor ure #% A € 89 Ued @ w5l 3t 3 ged €| dedn 9 gRe1 Aot FAafafaa
T YR TR HA T gL, R &t g, Aipad B SIS Wolgd BIATI AT AT =T DY ST AT
Al T AT B U g1 3 fay o1 v DS iR dtwda @ rgar 81 g1 & T il § dtean
Ft gt faagpa arw 1 39 330 & 9 gl @ 7 e @ve @ U dieaite IRPR T8Td $IP alddad a1
STYR IR a1 TR | THT A § T A Bdiid IROR B IWIST SR, AT B PR & a0 A @©
TG BT 3R TP T AP B RATYAT B3 g1t 1 AUTE 3BT 3T 331801 81 Al g1 31t g1a aa Aura
T ToTA §IHT BT T 3(d " dipad g1 AfhT AR B 3Medl 3R HTH HIA & adid| B dga o aul
T ST & 1 e AuTe 3l SipeT & o STUR AR H3A FT I A o W 8|




HTETAR RITUA Adad 8 fawaR &1 gHid! gidl 31 SUPT 7aad ¢ & [t 331 & 5% 87 § diediite WeR &
Tayd Rsidl & R HAT 3R ITP UHTT HY U & g3 I 3R I P 8% IRIT 9% UG R
TRt el &Y 3iftre WfRT Ue H3AT, W9 & & SIS &1 Judig & yHTd § a1, uigarsi siv
ATHRIH! I GRIURT | w151, 3fe fawR &1 gl & 331601 § | 39T U8 Haaqd M g fF sud o0
PHad T g1 o Awdaitae ufehar 9 R i) 9T 9% | YR 3R SAR®T 9 Sffpar =1 3meT 3=t gl &1
AT HY B &1 YRa # et oft orer & w3 09 s of § fFe! werifas wife 18 fre urd 81 oot oft
YAk & $O IT YR 91 RIYURT A T @8 IS 781 TR §1 A 9 didpda & faaR &) gl & Ireur g1
AIBda B TGRS dP WG B Pt Gl BT JTHAT 8 AIpad B BT USdl 8| THPT AAAT § Alpad B
uferanail 3R IR B Toiga ST

ST TR F UgHR A2 IR Y U= $T Ik Farsy|

uy : URd # anft oft 7o e vt &« 7Y e uran/ars @ 2
1. TSt AT

2.5 | Py G

3. 3T FaTua

4. QIATSIh HFHATT

Correct Answer :-

o JolAfde QIh

5) ®13 ot g Faa ve guar T gt | 1 S Tuw B g 1A i Siar @ ot aeayyf g 8w
R IR urn 1 1% | R T § 3 9 F ek U gU RN & I 89 YA $ed &1 TP IR 9 §H
ot gt R faorg U 7 Ad € o 79 U 9 FEl MTUS 3T 9gd § | didad @1 gB gHlfaal Attad
g1 IMYR AR 3 B T, AR F g, Apad B S AoTgd HIATI ST T =M BT ST T
A &1 AT BT gsar 21 3t fay &1 v Nurs v diwd @ srgar 81 g & 31 e | dlwdn
3t g fIaepa I1w 81 39 3= & IR T 3 P 5T o I e diediRe WReR T8Td e diddd Bl
STYR IR 5T TR | T FA F TAUH SABdiiAd IROR B IWIST SR, AT Pt WRPR & G701 A g7
TG BT 3R TP TR AP Pt RITYAT BI1 g1t AT THBT 3T 33181 &1 9l | 31l g1a aa Aura
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wisharael 3R W Y ToTgd BT

Swie T B TgwT H2 7D MY U $T I@R JATSe

wy : o 3= & A 8 @ 39 30 Yy oA | g 2
1. BIel ABdIAD TIEAT TATA

2. gl Slhdifah ATUR AR el Hr

3. thdel AlehclliAch AIDN TeTel Pl h

4. 30 |

Correct Answer :-




16) §aT F1 AR auf Tt FSY, TS| BT R g1

Pol TR BT THR g¥ R & Iy fibe usr

IASI AEY BT Gl I DIl dP AR ST

@l Pt ave faerelt o1 fa=mai # waw o

3 9l & oI T forret uror 9 Wi

il 1% B ARG APl § AT g PORI

i YT IR, eR dRBR o bl FYermar &

S Urt 9o WX 7Y ST @t ferafirerar 3

3R TYTE & Ugd [Gad & UYH §H &0T &

T8} gAR HfF ITaT B, PG F 7 A
TGP & X AT

ST U B UgHR A1 I 9M a1ad U= T IR qarse|
w=: 91 & A S == fb=g wro | off Wk @ @2
1. g=at @l

2. fopTe Y

3. U &

4. gpfa afFr o

Correct Answer :-

. fpaa @

17) &41 &1 WR a9l 1 ST, St H1 AR e
HET TR BT STHT g¥ R &b U b v
IAS A1 BT Well B BT 9P TER ST
@l Pt avg faerelt o1 fa=mai # waw o

3 quf & 3G T foret wror & wR

il 9Td% B ARG ATl § qIGd 9 HORI

Sit 4@ e, URel TR o B! fyaran @
St UTi 99 WR Y g1 o faatiarar 8

3R TG & Ug fGad & Uy 59 &0r §



TE1 FALR TSP 1T &, PIICIRT S 7 §

T IS & B AT

ST UL ®) UgH 4 [P WM ard U= $T I} Tarsy|
TR: 39T A &1 Tae 5 g | glar 82

1. fAIFRR

2. 2RG

3. &

4. quT

Correct Answer :-

18) 91 FT WK auf 31 T, TSI F1 R v
PBl TR BT THR g¥ R & Iy fibe usr
ISl AEY BT Gl I DIl dP TG ST
@l Pt ave faerelt o1 fammai # waw o

Y 99 & 3G T foraey wior & wWR

il 9% B ARG APl § AT g PORI

i YT YR, eR dRBR o bl fYerar &
S Urt 9o WX 7Y ST @t ferarfirerar 3

3R TYTE & Ugd [Gad & UYH §H &0T &
T8} gAR HfF ITaT B, FIfvIEE F 7 A

T IHDT & X AT

ST U Bl UgHR A1 I 9 a1 U= T IR qarse|
v TRY famait # faereh ) Twedl 82
1. 3cUrd H a7zl

2. U I el

3. gpfd &1 BT H Rel

4. 38 €IIATT TR B

Correct Answer :-

o S &ISU TR B



19) §4T H1 AR quf 3t TS, TSI BT AR TS

FE1 TR BT PR g¥ RR & I v ug=n

IS T BT W B BT TB AT IS

@l $1 avg faerelt &1 feamsif & waw Ia=n

Y qut & G T forad! uror | Wi

W TP P ORE ATHAT § TG T BRI

i YT PR, e’ TR o ) fyerar @

it UTei g9 R Y g o faafiarar @

3R TYTE & g [Gad & UYH §H &UT &

TG FALR TSP 1T &, PTG & 7 §

T ISP & B AT

ST Ui Bl UgH 19 IR WF a1d U= $T Ik Farsy|
U: 3R WHY UR SRR 7 1 Ha9 STGT 9 B giaT o2
1. frame

2. JIPR

3. A
4.9¢

Correct Answer :-

20) a1 &1 9R aui &1 §ISt, A1 BT R g
B8] TR BT PR gR R & I = ugr
ISl AE BT Gl I Bl dP TG ST
@l Pt ave faerelt o1 fa=mai # wex o

q quf & 3FRE T forrest wmor 9§ W

il 1% B ARG APl § AT 9 PORI

i Y@ IEHR, Rl dRHR T Bt fYemar &
S Urt 9o R 7Y ST @t ferafirerar 3

3R 3THTE & Uga fad & w59 &1 |

TG g i 31T §, PTG & 7A A



T IS & B AT

ST Ui $l UgH 19 IR WM a1d U= $T Ik Farsy|
UT: 91Gd P TR P Y fa ave g 82

1. 3THT Tt ST T |

2. STHPY HA &

3. 919 dlor g

4.8 X & W & I X Tk o

Correct Answer :-

o 58 AR & W & T9aT R [ B

21) &1 $1 WR qul &1 SIS, T BT AR s

B8] TR BT PR gR RR & I = g

ISl A BT Gl I Bl dP A IS

@l Pt a¥e faerelt o1 fa=mai # wex o

Y quf & 3R T forrest wmor 9§ W

il 9% B ARG APl § A1 g PORI

Sl Y@ IEHY, Ul TR o1 Y fyermar &

S Urt 9o R 7Y ST @t ferafirerar 3

3R 3T & Ugat fad & UuH 59 &1 |

TG gAWR i 31T §, PTG & 7A A
TGP & PR ST

ST U B! UgHR -1 I 9H a1 W= T Ik Farse|
U: "SR TS & Ugd feaw & uyw 59 &ur A &1 Afaeiie ddy frad 82
1. AT BT aIRer &

2. ATAHA T g1 &

3. %O b T

4. BTG $1 pid Augad 4

Correct Answer :-



22) §91 P AR quf Bt TS, TS BT AR g8
HEl TREH BT WP g¥ R & Uy fR g
ISl A} BT Wt P BT 9P T8 ST
ol B avg forerelt 1 fezmei # waw So1

Y quf & 3G T foret wror & wWR

St 9Td® P AT ATHAT § IGA I HORR

S @ EHR, R TR 1 BT fEamar g
St UTi 99 R Y T o faatiarar 8

3R 3T F Uge fGa< & UUH 39 &1 A

TB gAR TP 31T B, PIIGT &b 7 A

T AP &1 B AT

ST UL B UgHR 1 IS 9 a1 W= BT IR Farse|
UL: "HS) Ve | Hfd T T a1qd 82

1. goehr o eramdR awt

2. Yol ST

3. $I5-51ETS

4. 99T # 39 arelt sfsAl

Correct Answer :-

o Foehl foh SEMAR aw

23) T FT AR a9l 1 TS, TSI F1 Ry
Fg] TR BT PR gR RR & I v ugr
ISl AE BT Gl DI Bl dP AR IS
@l $1 avg faerelt &1 fezmsif & waw I
Y 99 & 3G T foraey wor & wWR

St 9T P AR ATHAT § FIGA T HORR
i Y@ IR, R dReBR o bt fRYerrar &
S Urt 9o WX 7Y ST @t ferafirerar 3

3R ATYTE & g [Gad & UYH §H &0T &
I8 FAWR iU 31T §, PTG & 7A A
TGP & X AT



S Ui $I UgH 19 UD WM a1d U= $T I} Farsy|
UL: Hfa A fFae Y ga-n aae velt @« #1 82

1. Fifh fhaT 3R T giass &F gl

2. Fifh ATdAD P aur § TIY g

3. Fifs fopamer wefel e ¥

4. i fopaTa AR arde &M agat T IR ST T B

Correct Answer :-

. i frae AR arde R agal o IR dEd W ©
24) a1 P19 a9l B 1S, Frs! &1 AR s

Dol TR BT B g7 RIR & 9 fibe ggAr

ISl A BT Gl I DAl dP TG ST

@l Pt a¥e faerelt o1 fa=mai # wex o

3 quf & 3FRE T forrest wror & W

il 9% B ARG ATl § A1Ge g PORI

T YT TEHR, YRl TR W B Fenar &

St UTi 99 R Y g1 o faafierar 8

3R 3THIE & gt fad & yuw 59 &1

I8 g 3if¥re 311aT B, FIIG & 7 A
TGB! &HT R &I

ITYe U= ) Ugeh? 19 YR I a1l WA o7 S@i¥ §a1s¢|
= fra yzar Teae W @a A w1 FRar 82

1. #ER Tl B

2. o ammerr ®

3. Sf-dAlg Agaad T B

4, HISTT T &

Correct Answer :-

. SN-dis Agad AT B

25) §al 1 9k auf &} rSt, st &7 R yer



DI TR BT PR g¥ RR & I v ug=n
IHSdl AE BT Gl I BTl dP AR ST

ol B avg forerelt @1 fzmeii # wex So1

Y quf & 3G T foret wror & wWR

St 9T P ARG ATHT § IGA T HORR

S @ IEHR, R TR 1 $I fEamar g
St UTi 99 WR Y g o faafiarar 8

3R 3V & Ugd feaq & uyd 39 &ur o

TE! FALR TP 1A &, PR S 7 §

T ISP & B AT

ST Ui &) UgH 9 [D WM a1 U= $T I} qarsu|
USH: 39 Hfaar A & 7 ‘gaer’ f5d w182
1. JoRTH Pl

2. fopdTe Y

3. ARTH B

4. #PpsUT HY

Correct Answer :-

o forara @t

26) TI1 F1 R aui It T, TSI F1 R g
FEI TR BT PR g¥ RR & 9 v ug=n
IHSl AG BT Gl DI Bl dP AR ST
@l Pt ave faerelt o1 fa=mai & wew o

Y qutf & 3G T foraey wior & wWR

il 1% B ARG APl § A1 9 PORI

i YT YR, eR dRBR o bt fYerrar &
S Urt 9o WX 7Y ST @t ferafirerar 3

3R TYTE & Ugd Gad & UYH §H &0T &
T8} gAR P TaT B, PG F 7 A
TGP & X AT

ST TR DI TGP -1 I oM a1t Y= BT IR qadrse|



UL 39 Hfadl § YA & I g1 R feae! geit &1 qui= forar man 32

1. Teh gadr &
2. Tk g=d &

3. Teh TOEr hr
4. U fepdre ot

Correct Answer :-

. T fopgra &

27) &91 &1 9 auf &) FSY, Frst &1 R usr

P! TR BT B g7 R & 97 fihe ggAT

IS A BT Gt P BT TP T8 ST

@l Pt avg faerelt o1 fa=mai # wex o

3 quf & 3ARE T foret wror 8 wWR

il 9% B ARG ATPHdT § AGd g HORI

Sit 4@ e, URel TR o B! fyaran @

St UTi 99 WR Y T o faatiarar 8

3R TG & Ug f3ad & Uy 59 &0r §

B gAR it 3iTar B, PRI & 7 A

T YAB! &H1 X I

ITYe U= ) g Y YR 9 a1 WA &7 Swi¥ Sa13¢|
U 39 Ffdar A wgaa \faafiamr <rsg &1 @ o 82
1. =T @

2. GE& B

3. #ET B

4. Yo BT

Correct Answer :-

o IT BT

28) TA1 F1 WR auf I T, IS F1 AR g

D1 TR BT PR g¥ RR & I v ug=n



U T BT W B BT TB AT IS

@l o1 avg faerelt &1 fezmsif & wax I

Y quf & 3G T foret wor & wWR

Wi TP P ORE ATHAT § TG T BRI

i YT PR, e TR o ) fyerar &

it uTi a9 R Y ET o foafiarar @

3R TYTE & g [Gad & UYH §H &UT &

TG FALR TP 1T &, PTG & 7 §

T ISP & B AT

ST Ui Bl UgH 9 IR WM a1d U= $T Ik Farsy|
W=: 9fe 3MM9Tg & ugd fo Fifergra & ifie fFam arg omé dt w1 o= arfeu?
1. FIfIlcrT &l UoaT d1fev]|

2. FIfoler & IR # a1d A ARy

3. HifIGrd ¥ &TAT AT ol arfen|

4. DS AL BT M|

Correct Answer :-

o PG A &TH AT oAl AT

29) a1 &1 9K aui &1 FISt, A1 BT R U

Tl TR BT PR g3 RR & 9 f5r ug=n

ISl A BT Gl I Bl dP A ST

@l Pt ave faerelt o1 fa=mai # wex o

Y quf & 3G T forasd! yror | Wi

il 1% B ARG APl § A1 9 PORI

i Y@ IEHR, Rl dRHR T Bt fYemar &

S Ui g WR 3TE e ot farerar 3

3R 3THTE & Uga fad & w59 &1 |

I8 g i 31T §, PTG & HA A
TGP & PR ST

ITYe U= ) Ugeh? 1Y YR 9 a1l WA &7 3@} 9a1s¢|
WH: IB-Tdl §5 AGal BT g8 Hal aP yga- et 52



1. G At ded
2. e deh

3. WdT & Bl dh
4. "Hdg db

Correct Answer :-

o Gl & oI b

30) §a1 &1 AR aui @1 ST, TS| BT AR T

HET TR BT ST g¥ R & U {6 g

ISl A BT Gl I DAl dP TG ST

@l Pt a¥e faerelt o1 fa=mai # wex o

3 quf & 3FRE T forrest wmor & wWR

il 9% B ARG ATl § A1Ge g PORI

T YT TEHR, YRl TR W B Fenar &

St uTt g UR 3MY ST ot forafieman @

3R 3THIE & gt fad & yuw 59 &1

I8 gAWR 3iftre 311aT B, PRI & 7 A
TGP & R ST

ITYe U= ) Ugeh? 19 YR I a1l WA o7 S@i¥ Sd13¢|
U=H: A | oI SR} @1 891 & 1Y 99l gidl ¢ of o1 R <1 82

1.8
2. Ugls
3. 3R
4. S-S

Correct Answer :-

Topic:- General Urdu(L2GU)

1)



b o il
v s 5/:‘._.|'..ru}(~_.f|"5/
v
I
S TN
G

4. 3

1.

Correct Answer :-

LF/“» iy

2)
?LKJﬁJ/‘/JEE;J
,
&
2.
3.
-G
4,

Correct Answer :-

3)

: i
L).?LLL?(U!J idrf:fﬂjkj(r”



Correct Answer :-

S 2

Correct Answer :-

Il

l_r/
S K oSS
Lfij;ﬁ;/f;(;fbf{;;:_fffu’?



,5'
,

bza:I

4.

Correct Answer :-

" llo 3l A
,‘i,‘l,: LIl A
)
;|
.;_JJL‘
2.
r"'
3.7 v

§ ¥
4 0¥

Correct Answer :-



8 (- .
M sl s

| LquETLdJrJ&FLLLﬁ‘E

1 .

:f_.dfﬁ&FlLETi.r‘?Lujl
2.

.-f_.dfr::.fﬁ'll-@ﬂ:_,u,”pﬂq
3.

:f_.dffaﬁ'lhETLc,fli.r‘:
.
Correct Answer :-

.., r/ < il 7 - i r"‘?
O/ = b I



1.
'f,-"
2.
o
3. £l

rj,é‘"
1,
&
pita
3. -

Vel s

4,
Correct Answer :-

A

12)

o -
bl S FESU T



L*m,_,rty,;si:zm{ | f;_gf’c,_r

Correct Answer :-

E
SN

W USSR
L b



; F L §d
yryd
a. - S

Correct Answer :-

) ﬁ;uf;yb@js,ﬁjﬂjﬁﬂ
N

1.
2,
, “
-‘iTr
|
3.
5
4,

Ll
16) |l -
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Correct Answer :-
—l

17) ol ' K: - 2 &
el B0 A ol

. 1945

1913
1950

. 1927

Correct Answer :-

ol



S
2.
204
3.

Correct Answer :-

..:.»JL;(

21 . e R ..
) L).?L-kfd.@:_;c.;;f’pf;hﬁ _T_,,f

o z'?y |
1.
S

2.



R4
3.

-
;urrmL{l
4,

Correct Answer :-
'
sl rlmﬁl ry



Correct Answer :-

5w

24 -
) :;;.,L{ bt sl s

J&FLLETLL;,“L(‘:

bl AL

Correct Answer :-
L,,f..:.rl?llr?u el A



26 - -
bl L

L
4.

Correct Answer :-
A
27) - . P
S bl e Z 5K

= v



,J};fﬁﬁfbgL:

Correct Answer :-

] ,ijjfﬁldbﬁ

29) T e 7
r:_.....»bJULfEL,j,LJ Vet

1945
1936

. 1950
,1913

Correct Answer :-

1936

| e

, sl
Je

3.

. ;}ka’

Correct Answer :-

..:.dLgr/



Topic:- Social Science (SSC)

1) What is the SDG (Sustainable Development Goal) rank of India in 2018? / 2018 ¥ YRd B
THSISh (waq e aga) Y& a1 38 82

1. 130

2. 124

3. 112

4, 148

Correct Answer :-

2) Which of the following country is in the third stage of Demographic transition model? / frafafaa
H q B T I THIRB WAV AISH b A 90 | 82

1. Kenya / &eam
2. Bangladesh / daerncer
3. Peru / U®

4, Canada / hdT3T

Correct Answer :-

e Canada / TSI

3) Which among the following is the driest desert on Earth? / Fafifeaa & ¥ 19 91 7l R 9ad I
IR 32

1. Kalahari / STITET
2. Tabernas Desert / dea g I[Eda
3. Atacama / 3TCThTHT

4, Gobi / T

Correct Answer :-

o Atacama / 3ICThIHAT



4)
Match the inscriptions with rulers

1. Mandasor Pillar inscription | A. Chandra Gupta
2. Meharauli Pillar inscription | B. Skanda Gupta
3. Bhitari Pillar Inscription C. Pravar Sena II
4. Chamak Copper plate D). KEumargupta [

| et & @ foemerE &1 Bd &

1. ACHR ¥a# Riee@ | A. =g 0

2. Fgier Tay [eew | B. &g 40

3. faaly T f@emer@ | C. wax & I

4, IMHEF HIR oI D. FHARICT JUH

1. 1-A, 2-B, 3-C, 4-D
2. 1-D, 2-A, 3-B, 4-C
3. 1-D, 2-B, 3-A, 4-C
4. 1-D, 2-C, 3-B, 4-A
Correct Answer :-

« 1-D, 2-A, 3-B, 4-C

5) FIIs stands for . | TH3ATS3ITS BT ‘{Uf ®q___ Bl

1. Foreign Institutional Investors / B é-&-é\l AT $d ey

2. Foreign Income Investments / BIRe ScIchdl Scd¥cC

3. Foreign Investors Income / iRl so—citcé SclchdA

4. Foreign Investment Index / HRA ged¥cde S5

Correct Answer :-

» Foreign Institutional Investors / BIRA E22a ¢leTe g ey

6) The most appropriate criterion that determines the selection of a teaching method is: / L]

ST UGS il T fR1evr ugfa & aa+1 &1 fuffia swar g:
1. The nature of the subject matter / ﬁm:r—aa H gepia



2. The classroom environment / <h&IT bl dTATdIIY]
3. The availability of resources / TETUAT T STTeTdT

4. The incompetence of the teacher / TR1&fh B Sfefed

Correct Answer :-

« The nature of the subject matter / TawI-a&g &hr Ueplia

7) The vesara style in the building of structural temples was developed by: / SXaaTcA®
#AfRY & fawtor #F qw AN AT g Rwfaa i a1 o

1. Pallavas / Ueeld
2. Chalukyas / ITe]d

3. Guptas / Ttd
4. Mauryas / o

Correct Answer :-

« Chalukyas / dTe]d

8) Development is a and nonstop process at all periods and stages of human
life. / fd&TE AT Sfaer & wft @A 3k o & v 3R AfrEera ufkar gl

1. uniform / ThIATA
2. important / EII%?JC[U‘[
3. general / HTHATT

4. continuous / Hdd

Correct Answer :-

o continuous / Hdd

9) Students are split into small groups for a specific period of time and are made to discuss a

given issue or topic. This method is known as: / SHEl HI S fafarse g5 3o & AT e
Togl @ Renfoa frar smar @ 3k RY ¥ 7o a1 Rwy @ Raw-fwst s smar 2
7§ ggufa Fged! gl

1. Brainstorming / JgaNiaieh (SIA€CIfetar)



2. Buzz session / U:J,TTIT-T T (957 ALUA)
3. Symposium / gR=rar
4. Debate / dTg-fadrg

Correct Answer :-

e Buzz session / ?{J,GIFT T (I<7 )

10) Panini was the author of / 9TOIfar AT & d@s &
1. Ashtadhyayi / 3TETEITT

2. Mahabhasya / #ASTHTST

3. Daskumara Charita / ARAHAN IRd

4. Mrichhkatika / <& f EEBEF[

Correct Answer :-

« Ashtadhyayi / 3TSTEITAT

11) In projective techniques of personality assessment, behaviour is evaluated. /

afFdea e 1 Tl aFlll d ___ SI9ER FT Hedidd fHAT AT g
1. criminal / 3TORTYY

2. conscious / AT

3. overt / Uehe

4. covert / 3TUPhC

Correct Answer :-
e covert / 3UbC

12) When was Sikkim created as a full-fledged state of Union of India? / RAffera & ad
¥ & qot IsT T ST S foar A A4n?

1. 1985
2. 1975

3. 1970



4. 1980

Correct Answer :-

« 1975

13) At which point of discussion, does social science differ from pure science? / T & R

fag =, wfors e Reey fees & Bew gar @

1. Degree of complexity / SITCeldl &l HTET

2. Repetition and duplication / ‘gT—R'I_c[ﬁf 3R feugha

3. Validity and reliability / d4dar 3R faagetaarn

4. Exactness of measures for prediction / Qdeh¥ed & forw Surdi/#ATal hr Uﬁ'QE?IT

Correct Answer :-

« Exactness of measures for prediction / t@_cFQFT & forw surgl/aATar & CIﬁ'Q!EFII

14) Aryabhatta and Varahamihira belonged to which age? / 3Td%iee 3R wEART v qa
¥ gefaa &

1. Kusana / pUToT

2. Harsha / %'éf

3. Gupta / I[Cd
4, Maurya / tan

Correct Answer :-

 Gupta / 9[Cd

15) Who among the tomar rulers established the fortified city of Lal Kot (Delhi) in 8th century?
/8T erared #F fFE AR aE o o Fie (Re) & g agw A Tuer 9y o

1. Anangpal / 37T9TdTel
2. Lakhan Pal / eTdel UTel
3. Tejpal / A<TaTel

4. Madan Pal / A UTel



Correct Answer :-

« Anangpal / 3T9TdTel

16) Who was the powerful woman ruler of Kashmir from 958 to 1003 AD.? / 958 & 1003 sadt
dF FHAR Fr afFaereh Afger aws Fia o

1. Kauravaki / @idehr
2. Prabhawati / THTAT
3. Didda / fe=T

4, Rudrama / ®¢ AT

Correct Answer :-

. Didda / fe=T

17) Who coined the term Action Research? / Tl R (haTcdA® QMter) ersg &1 =T
foraar &

1. Stephen M. Corey / ¥EIthel TH. BRI

2. Bruce Cooper / s{H QU

3. Talcott Parsons / \C\.oldn\lqc Urid

4. Kets de Vries / gh?ﬂ:r ST et

Correct Answer :-
« Stephen M. Corey / TEIHh TH. DRI

18) Who coined the word ecology (Okologie)? / ‘TIRTEATAHY (3NFIarel) ereg FT ATASHR Faa
frar?

1. Robert Whittaker / ¢ fogea
2. Ernst Haeckel / TeEE @bl
3. Charles Darwin / dTed sIfdd

4. Arthur Tansley / 3R ¢ede

Correct Answer :-

+ Ernst Haeckel / Te¥C gachel



19) Who is the author of Ashtanga samgraha (Summary of the Eight Branches of Medicine) in
Gupta period? / [ el & 3rser waare (Rfrcar #r ams ar@mst #1 arwen) & d@s
&l &2

1. Vagbhata / dT9HcC

2. Bhratahari / $GeiX

3. Charaka / dIh

4. Susruta / GHT

Correct Answer :-
 Vagbhata / qTdHcC

20) Who was given the title of ‘Lakh Baksha’ (donator of hundreds of thousands) in early
medieval times? / YRTEHF HALYHTT H 'a@ T€U (VF3T goRT F71 gran) i 37 FF &
wg A7

1. Balban / deldd

2. Razia / TS

3. Qutub-uddin Aibak / g’ggé\ld Udh

4. Firoz Tughlaq / fop3sT JdTelsh

Correct Answer :-

- Qutub-uddin Aibak / FIFEIT T

21) Between whom was the Battle of Dharmat fought? / 98 d T g e di=r g3 A
1. Aurangzeb and Dara Shikoh / 3iReTaid 3R gRT fAPIE

2. Babur and Ibrahim Lodhi / ITeR 3iR SelTfedT ored

3. Akbar and Jahangir / 3TchelT 3R SRR

4. Akbar and Rajputs / 37he¥ 3R {Idtkd\i

Correct Answer :-

« Aurangzeb and Dara Shikoh / 3Rereld 3R gRT APIE



22) MOOCs stands for: / TH.3MN.I.H &1 aread &

1. Massive Open Online Courses / Af¥a g Bﬁ?-l?l'lsc_-f P

2. Massive Open Orientation Courses / HT&d 3de ITRTAAA PRAST
3. Massive Online Open Courses / AT 3ﬁFIT~|'I'$T-T U P

4. Mobile Open Online Courses / S U 3-ﬁ?|?*|'|3?f P

Correct Answer :-

« Massive Open Online Courses / HIAd 30U FTASA Pretsl

23) amendment added a list of Fundamental Duties to the Constitution. / HATET

WRUE # AF Fdcat A v g e
1. 420 / 207
2. 39t / 307
3. 47t / a7ar
4. 44t / a4qr

Correct Answer :-

. 420/ a0q7

24) Erosion by solution is termed as: / fae¥sT gaRT 3REaA FT Fgl AT &
1. Evorsion / STelstaTde

2. Cavitation / J[f&erae

3. Abrasion / 3rqEdor

4. Corrosion / H&ROT

Correct Answer :-

« Abrasion / 3fgedur

25) Ramsar sites are the areas which are to be protected for wetlands. Which one is the first

Ramsar site in India? / THE T« § 87 7 e 3msof & fow @fda frar oo 81 sma &
gl IAAT TYS FieT AT 8?2



1. Loktak Lake / @lehcleh 3itel
2. Chilka Lake / fewr sfier

3. Vembanad Kol / d&g<TS el
4. Kolleru Lake / BIers Sid

Correct Answer :-

« Kolleru Lake / ®a% it

26) The curriculum principle that allows necessary changes in its content and methods as per

the changing needs and situations is A< qrodshHA m g, S Sgddl
FraegFarsi M TR F e vl RAvg-aeg ik wqufaat F smaeas
gRader @ g

1. Principle of integration / TdhIeh0T T TAgicd
2. Principle of flexibility / ofterad & f&agia
3. Principle of motivation / 37TRUROT &T g
4. Forward looking principle / 3T &1 Bgia

Correct Answer :-

« Principle of flexibility / ordieldel T gl

27) The teacher’s mental and emotional visualization of classroom activities is: / F&IT

afaveufadl & ReF N AT 3R daacAs Fewar B
1. Year plan / auig At
2. Lesson plan / UT& TSt
3. Unit plan / SHIS TloTell

4. Resource plan / TETUS Ilotell

Correct Answer :-

« Lessonplan / OIS Jiotell

28) The committee headed by Prof. C.H. Hanumantha Rao (1984) went into the question of
evolving methodology for _ planning. / 9. €T BHTFI' T & FEJ&TdT qralt
afafa(198a)dr m*mmmﬁmmmmmu



1. District Level / Torell Tl
2. Village Level / TMH TRT
3. State Level / T T

4. Block Level / Selfdh T

Correct Answer :-

« District Level / ToelT T

29) Which Act drastically redrew the boundaries of states and territories in India, organizing

them along linguistic lines. / &% 3fAATT F sIRa H Tt 3 & v dwmsit F Fy
gC dF FF T AR 3¢ v @it F gy swafeya R

1. States Reorganization Act, 1956 / Isd -io AfAfATH, 1956
2. States Reordering Act, 1959 / 1o G-:3fIshHUT SHfefATH, 1959
3. States Reordering Act, 1963 / 1o U:3shHUT AT, 1963
4. States Redrawing Act, 1957 / o8 Gx@ AfIfATH, 1957

Correct Answer :-

« States Reorganization Act, 1956 / Isd J-Fie AT, 1956

30) Which among the following is not a criterion for writing Instructional Objective? /

fafef@a # & 7 Pdaens 358w e & v ;A Awes a8 82
1. Specification of the learner / fremeff &r fafATEar

2. The nature of the school environment / TIOTIT & Flﬁﬂ hr QT-E%

3. The learner performance / et &1 ueda

4. Adequacy of instructional objectives / TAGRTcH® 3aT &I gaTaaT

Correct Answer :-

« The nature of the school environment / TI&TeT & ARl Hr gpfa

31) Which among the following models of teaching belongs to Social Interaction Family? /

famfaf@a & & Raror &1 sl ar vfawe a@fes sia: fFar TRarR @ wefta 82
1. Inquiry Training Model / Y&dTs UIASTUTIHATA



2. Non-directive Teaching Model / 3ifacfRra feror ufdea
3. Advance Organizer Model / 3fJd 3maSe ufdd
4. Partnership Learning Model / HT&IT 31991 UfdaT

Correct Answer :-

« Partnership Learning Model / |11 H{Q9rH gfdA=

32) Which battle was fought between Ahmad Shah Abdali and the Marathas in 17612 / 1761 &
3EHE ATE 3Heerell R 7S & i Fler-a1 ey gam A

1. Battle of Tarrain / dX1$e1 bl g

2. Battle of Khanwa / @leldT &bl Jg

3. Battle of Buxur / &8I &l Jg

4. Third Battle of Panipat / UTATdc T QT-ﬂ'J g

Correct Answer :-

« Third Battle of Panipat / GTATdc T Fj_?-ﬁ'q g

33) Which Jaina Saint is credited with introducing Jainism in South India? / gf&YoT #RaT &
ST 3 Y YIAT T FT AT FH AT FT F AT B2

1. None of the above / 3Uddh H & PI$ ARl

2. Sthulabhadra / TLHG

3. Indrabhuti / SEH
4. Bhadrabahu / W’I@

Correct Answer :-

o Bhadrabahu / 3-1?5!15

34) Where was the First Jain Council held by Sthulabahu? / PL?NTE’ CaRT 94H steT aRwe

Fgl gars 7§ A
1. Kasi / iy

2. Vaishali / ey



3. Vallabhi / deo#T

4. Pataliputra / UTeelig

Correct Answer :-

« Pataliputra / UTcelTgT

35) How can a social science teacher infuse affective outcomes among students? / gHS®

e a1 oEl # TFRICAF IROMAT F A gfad FT ThdT 82

1. Keeping the students intact through lecture method / TITEAT Ugfd & HAICIH & STAT Pl
Hidehel TG &

2. Adopting collaborative learning inside and outside the class room / @& & 3ieX 3R I
e ATAITH B HUATR

3. Through story telling method on freedom fighters of social eminence / TTHATGI ABAT dTel
TITIdT JATTAAT U AT IidT UgTd & ATCIH I

4. Through the teaching of wars and conflicts through ages / ﬂ'dﬁ o 2127 3R Tauf & fRAetor &
qeTH I

Correct Answer :-

« Adopting collaborative learning inside and outside the class room / @& & 3ieT 3R X
GTHfeeh TAITH Dl HUATH

36) Which Article of the Constitution states that all authorities, civil and judicial, in the territory of

India shall act in aid of the Supreme Court? / ghue & f5d 317'_!,@?{ # el gl % fF IRaT &
TsgaT & weft wifteor, aeiie 3t =¥, gafea =ey i gerar & F1F Fir

1. 141
2. 134
3. 144

4. 114

Correct Answer :-

. 144

37) Which was the political party formed under the leadership of Kanshi Ram? / FIRH F ﬁ?—!ﬁ' £ )
Fle Y Toretfas aréf Afe g§ o



1. Communist Party of India / ARATT Shegfaee aref
2. Samajwadi Party / THATSATGT UTET
3. Rashtriya Janata Dal / S8 STAdT &ol

4. Bahujan Samaj Party / dgoled HaATST aref

Correct Answer :-

* Bahujan Samaj Party / dgolel HATST aref

38) NABARD stands for ./ eI &7 q"\ui' T gl

1. National Bank for Agriculture and Rural Development / IT§1 $f¥ 3R arafor Aeprd d

2. National Bank for Agriculture Reconstruction Development / IS Hiy gaﬁ#rw fawra da
3. National Board of Agronomy and Rural Development / ITEI FEgfae 3R greior e as

4. National Board of Agriculture and Rural Development / IS ?f»ﬁ d T e 9

Correct Answer :-

« National Bank for Agriculture and Rural Development / ITEII ?fﬁ 3R grefior e d

39) stated that ‘social sciences carry a responsibility of creating a strong sense of human
values, namely, freedom, trust, mutual respect, and generating in students a critical, moral and mental
energy, making them alert to the social forces that threaten these values’. / A AT AT ®
& amfoas e aedr Jeal, sratq Fadaar, e, sradt @A 1 Ao daer dar F @
AN ol F v Ageay, A AR ARE S da1 FOT B e B &9 5 g
Hedl F @aX & s Aol FATfo afFaat & Qe g d Far g

1. National Curriculum Framework NCF (2005) / JT§/I UTGI AT Y FUIET TFHITE (2005)
2. Commission on School Education / TRl 8T 3T
3. Education Commission 1964-66 / f1&IT 31T 1964-66

4. The Curriculum for Ten Year School / &8 HIeT & FHol & TelU UTSThA

Correct Answer :-

« National Curriculum Framework NCF (2005) / T/ UTSITAT I FUET TAHTTE (2005)

40) is a type of unemployment wherein the workers are searching for new jobs and for a

temporary period they will be unemployed. / TF YFR A NN § T Faamd
% AteREr f e W@ § IR vF yEUrh 3Efr F [T 7 R @A



1. Frictional unemployment / 3T€TAT SRISTI
2. Seasonal unemployment / TTHTAD SRTSTIT
3. Structural unemployment / IRTATHED SRS

4. Disguised unemployment / U=5d SRS

Correct Answer :-
o Frictional unemployment / 3TEATAT SASTIRY

41) is a process that involves the assembling, storage, transportation, packaging and
distribution of different agricultural commodities across the country. / S gishar & e gor
5 A faffrer FY awqait & WA, ssror, aRage, d3fSer 3ix fravor anfaer g &)

1. Agricultural marketing / T faqure
2. Rural development / JIT3ToT faepre

3. Agricultural networking / ?ﬁfﬁ?ﬂﬁv_ﬂ
4. Rural marketing / gretor fague

Correct Answer :-

« Agricultural marketing / ¥ Tagore

42) Who is the present Chief Economic Advisor to the Ministry of Finance Government of India? / TR
WHR & fAd Jared & gdde qeg s gagsr i

1. Raghuram Rajan / XYRTH Mol
2. Kaushik Basu / HifAp ag

3. Krishnamurthy Subramanian / ST gIATTA
4. Arvind Subramanian / 31X fie gIATIA

Correct Answer :-

« Krishnamurthy Subramanian / EOTfct AT

43) Who is the present Governor of Reserve Bank of India? / R RSd d% & gdae ek Fi
&

1. Urjit Patel / 3Toid e
2. Duvvuri Subbarao / Geqdl GedRTd



3. Raghuram Rajan / TEXTH Isled
4. Shaktikanta Das / QIfcheicl &TH

Correct Answer :-

e Shaktikanta Das / SRS IR ]

44) Who first adopted Micro teaching techniques? / §&H RA&ToT TFAIRI F FAVTH FH FIATET?

1. Dwight. W. Allen / 3d13¢ Zeey, Teld
2. Dwight Waldo / 3dT¢ dTes!
3. Michael Brown / #ATShel SIS

4. Stanley John / TG STiet

Correct Answer :-

« Dwight. W. Allen / 3d18¢ Sy, Teld

45) Who is nicknamed as the ‘Milkman of India’? / 'Rd & 7Y oW FT 3TH fFa fear o @2
1. Swaminathan / TITHIATY

2. Sambasivan / GFATIAATA

3. Verghese Kurien / gaftsr ?fﬁ'q?f

4, Hiralal Chaudhari / aTIFﬂ?{ ey

Correct Answer :-

+ Verghese Kurien / T3fia] E_Eﬁ'qﬁ

46) The concept of five year plans in India was adopted from which country? / AR # yuadfy
ASAATHT T ITUROT FH A F 39S 7§ AP

1. China / @
2. England / 37@3

3. Soviet Union / @fdad @9
4. USA / € T AR

Correct Answer :-

« Soviet Union / @fdad 99



47) AMUL stands for ./ TS (TTHYTA) FT T T gl

1. Anand Milk Undertaking Limited / 37Te¢ fed 3aicfhr fofdes

2. Ahmedabad Milk Union Limited / 3T&HGIdTG et Jfad fafdes

3. Ahmedabad Milk Undertaking Limited / 3T&derdre [Fed 3cihr fofdes
4. Anand Milk Union Limited / 3¢ e g fafiics

Correct Answer :-

« Anand Milk Union Limited / 3¢ e gfAg- fafics

48) is an apex Indian governmental body created in 1964 to address governmental
corruption. / TS Haie HRAOH IWHR! AP/ § o TWHRT YPRR P ydl a1 & forg
1964 T 94T 4TI

1. Commission Against Corruption / HER & [&elTh 3T
2. Central Bureau of Investigation / hgId 3{=dwoT 3’{3

3. Anti-Corruption Bureau / #ETIR e EZBT

4, Central Vigilance Commission / e HclhdT 3T

Correct Answer :-

« Central Vigilance Commission / P Tahdr AT

49) is the highest court for criminal cases in a district. / T& forad # RIS
ATHE & fore 9ed 3= ATy gl

1. Court of the Sessions Judge / G SITATAIRT hT ITATAT
2. Court of the District Judge / TSell =TT FHT =IRATTT
3. Courts of Magistrates of First Class / UJH ol & A i?@a Pl Tl

4. Courts of Magistrates of Second Class / fgcdi Aoll & AT &1 “IATH

Correct Answer :-
« Court of the Sessions Judge / TF =ITATHIA T =TT

50) Which of the following intrinsically motivates a learner to learn? / Fafafaa a3 &4
3 ¥ fore wes fRrendf «) agw +u A AR #ar 82



1. Lots of homework / 37caTd I[Eehry
2. Rewards / UTcdTed

3. Easy questions / §XeT HdTel

4. Interest in the topic / TawT & T

Correct Answer :-

« Interest in the topic / TawT & T

51) Whose birthday is celebrated as ‘International Day of Non-Violence’ by the United

gations(UN)? | g WY (YEA) gRT fpus swafe ot siarigia sifgwn feawr & w0 & w=man srar
?

1. Martin Luther King / HI & Fj?-l?ﬁ?‘ﬂ

2. Mahatma Gandhi / HeTHT e}

3. Jawaharlal Nehru / STATER &1 A8&

4. Nelson Mandela / e Hadl

Correct Answer :-

« Mahatma Gandhi / HgTHT TTieht

52) The approach of organizing curriculum which is more content centered is known as: /

TSI H & ARG HI T VDIV, 9t Siftrpizra: fawg-avg Ffea g, 37 HgT oTal 3|
1. Concentric approach / Q:Iaﬁ%\?f HECT]

2. Topical approach / ATHATAS RO

3. Unit approach / TS Tf¥HI0T

4. Spiral approach / afider giRaIoT

Correct Answer :-

o Unit approach / ShTs TTBdIOT
53) Annie Besant was a member of . / TR ade Bt g 4t
1. Ghadar Party / 7a} et

2. Prarthana Samaj /EITQTTH HHST



3. Arya Samaj / 31 TS
4. Theosophical Society / RANIhdwd RS

Correct Answer :-

« Theosophical Society / A aifthera TraTsd

54) Who plays the main role of Guidance Services in School? / faemay o Ariex Tarsii &1
7= YT S fHuTar 82

1. Parent/ ATAT-T0aT
2. Social Studies Teacher / TATTSID 37eTTT TA8TH
3. Principal / gy

4. Counselor /W?ialal

Correct Answer :-

e Counselor / W‘x’ialal

55) “Roaring forties” are name given to wind in southern hemisphere commonly known as
which of the following wind. / “d@a afaw (AR wifdw)” Aol Memd F g arelt gaa = =
T A 7 oS feafaf@a F @ R g & A & I S 87

1. Westerlies / UG3T Uded
2. Trade Wind / =IOTR& Udel (i‘s" IGE))
3. Easterlies / q@ia uad

4. Monsoon Wind / HATAHA Udel

Correct Answer :-

o Westerlies / UG3T Uded

56) Sir Thomas Stamford Raffles is known to be a founder of which of the following modern

nations? / ¥ 1AW TADIS Yhew F1 farafaf@a & & fFw amyfas wsg w1 dvams
ATAT SATAT 2

1. New Zealand / rQ?iIﬁg

2. Cyprus / 91s9dH
3. Vatican City / dfcepa &



4. Singapore / @?TI'QT

Correct Answer :-

« Singapore / ﬁ?TI'ER

57) Cyclones or hurricanes do not develop within about 50 N and S of the equator because? /

AT AT B, ST YW@T & ar 50 N 3R s F ofiew Rwfa a8t @ & Fife?

1. Ocean surface temperature is high / HHg T gdg &1 dUHT AP BIdT Bl
2. Trade winds converge / AT gde T 3R ?»TFﬁ %I

3. Pressure gradient is weak / &I JdOTT HAR &icl &

4. Coriolis force is very Weak/ﬁﬁm THTT €I§H PAT 'e'ﬂ?lT %I

Correct Answer :-

« Coriolis force is very weak / BIR3Iforg gdma agd HAAR BT &l

58) Which of the following rivers does not flow into the Arabian Sea? / Arfaf@d & @ i
W A 3T PR F AET T8 &2

1. Tungabhadra / QTITS-TGT
2. Narmada / JAeT

3. Mandovi / #ATSdT

4. Sabarmati / Gre#HAAT

Correct Answer :-

« Tungabhadra / _g’UTﬂ-'I';\‘T

59) The Vallarpadam Terminal, which is a container trans-shipment facility, launched in
February 2011. It is a part of which among the following ports? / ®¥a{l 2011 ) AAFH T
AT FeaRIeH fiferd, St FEaRw Ndravor (T-RAgsde) gier 31 a7 Amafaf@a oda #
¥ fFaer s R &2

1. Cochin Port / &I Eial?lllg

2. Visakhapatnam Port / JIRMTETUCAH FEIITE

3. None ofabove/FCRj?F # q P TR



4. Chennai Port / OecTS TN

Correct Answer :-
« Cochin Port / I a’aullg

60) Dendrochronology is the scientific method of dating based on the analysis of patterns of
tree-rings. In a tree from which of the following zones, the analyzing the circles would be most
easy? / FaT-gerd (& A7) F et & FaRAWor & IMUR 9 gErFraTHiAa i w1 dmfaw
afi# 31 fefaf@a & & P &7 & ve ga1 A, Toadl F1 Redvor e wew e
grem?

1. Temperate Zones / 2fTAISoT ey (EFe )
2. Taiga / CaT
3. Tropical Rain Forests / ZS0ThfeadT aul ad

4. Polar Tundra / %’cﬂ'q §§T

Correct Answer :-

« Temperate Zones / frarsoT Hfeay (EFe i)



